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BE “AMAT| H28.9.5 i 0.55 | HwkO - - - 10| 440 470 2,700 #®&5R |EHETXES
R AE Z A | H28.8.29 i 0.28 | HwkO 22 - - 10| 34.2 650 3,700 H®&R [EEHETREN
HEB ZA#i | H28.8. 31 i 0.31 | HwkO 62 - - 10 | 59.9 1,700 9,400 ®&R  [EEETRIEN
Kigih ZA# | H28.9.12 = 0.41 | HEwkA 18 - - 10| 47.4 1,000 6,000 H®&ER [EEHETREN
—AR AT H28.9.6 i 0.29 | EwkA 33 - - 10| 347 360 2,100 ®&R  [EHETREN
7R Z AT | H28.9.12 g 0.49 | EwkA 11 - - 10 [ 40.4 770 45000 ®#®ER |#HETXEsS
X R4 ZA#i| H28.9.12 5 0.43 | EwkA 18 - - 12 61.6 1, 400 8,200 &R [EEHETREN
KAk AT H28.9.8 5 0.46 | HEwkA 93 - - 10 | 60.8 2, 200 12,0000 &SR |#EHERXEN
B AT H28.9.8 5 0.21 | EwkA 44 - - 10| 352 200 1,100) f&ER  |#EHERXEN
#i3 AT | H28.9.9 & 0.31 | EwkH 22 - - 10| 471.7 890 4,900 #®BR |[EEHERXESN
FEA AT H28.9.5 i 0.47 | EwkA 18 - - 10| 50.2 1,200 7,000 ®&SR |E#ETREN
Lt/ A AT | H28.9.5 i 0.59 | EwkA 21 - - 10 311 470 2,800 SR BTN
BRtE AT H28.9.5 i 0.66 | HwkA 26 - - 10| 70.3 1,900 11,0000 #®SR |##ETIXEN
XiR#E Z AT | H28.8.29 g 0.13 | HEwkA 100LL £ - - 10| 50.6 1,900 11,0000 #®SR |##ETIXEN
W/ AS L ZAi | H28. 8. 31 i 0.23 | HEwkA 10060 E - - 10 450 1,200 6,700 &SR [EHETRXEN
t5 AT | H28.9.9 g 0.28 | HwkO 29 - - 10 [ 59.7 1, 400 7,600 wER |EHEEERXEN
/8 (1) AT | H28.9.7 g 0.36 | EwkA 18 - - 10| 56.0 1,200 6,400 ®ER [EEIETXEN
iR (1) A H28.9.9 i 0.34 | EwkO 30 - - 10 [ 300 270 1,600) f&BR |#EHERXEN
—RH AT H28.9.7 £ 0.22 | EwkO 52 - - 10 [ 52.1 1, 400 7,800 H®ER |EEETRREN
il (2) AT H28.9.7 g 0.34 | EwkO 100LLE - - 10| 64.1 1,400 7,700 #BR |EH#HERRESN
EBF AT H28.9.7 i 0.35 | HwkO 49 - - 10 [ 43.1 610 3,600 &R |[EEETRREN
L e “AMA| H28.9.5 i 0.35 | HwkOo 11 - - 10| 41.3 930 5100 #®&R  [#EETREN
KEF AT H28.9.8 £ 0.45 | HwkO 21 - - 10| 61.9 1, 600 8,900 H®&ER [EEHETRIEN
BT AT | H28.9.5 i& 0.35 | HwkO 8 - - 10| 539 1, 400 7,700 HwER  |EHEERXES
/W AT H28.9.8 5 0.39 | HwkO 78 - - 10 72.7 2,700 15,000 &SR  |#EERXEN
FaE A 1 “AMAT| H28.9.6 i 0.32 | EwkA 50 - - 10 [ 50.1 690 4,000 ®#BR |#HETXES
jng AT H28.9.5 i 0.33 | HEwkA 17 - - 10 380 960 5400 H®&ER  [EEETREN
B2 AT | H28.9.5 i 0.30 | EwkA 100LL £ - - 10| 48.6 860 4,900 #®BER |#HETXES
55 ZA | H28. 8. 31 i 0.29 | EwkA 31 - - 10| 633 1,200 7,300 H®ER |EEHERXEN
IMEEF A | H28.9. 1 i 0.39 | EwkA 23 - - 10| 77.4 1,300 7,600 SR |##ETREN
=k A H28.9. 1 & 0.33 | EwkA 32 - - 10| 521 630 3,600 #®SR |E#HETREN
ith i AT | H28.9.10 | HREE 0.24 | EwkA 21 - - 10| 57.3 1, 600 8,800) SR |B#iETXEN
i A ZAHAT | H28.9.12 g 0.52 | EwkA 18 - - 10] 320 300 1,700 #®SR  |S#ERXEN
fill/ AR AT | H28.9.12 g 0.47 | EwkA 28 - - 10| 59.5 1,800 11,0000 #®SR |S#ETIXEN
ANSER] AT H28.9.8 5 0.37 | HEwkA 21 - - 10 [ 47.1 1,100 6,2000 w#®SR |E#HETREN
HEN AT | H28.9.8 g 0.31 | HwkA 31 - - 10| 59.9 1, 400 8,500 ®SR BTN
BIWA (#EE) A H28.9.8 5 0.40 | EwkO 38 - - 10 | 56.4 1,100 6,300 ®SR [EHIETRXEN
T3 ZAMTH | H28.9.8 & 0.33 | HwkO 35 - - 10 [ 50.3 810 4,800] w®BR |@HETXESN
E-27=] “AMT| H28.9.8 5 0.45 | EwkO 31 - - 10| 345 1, 400 7,900 ®ER  |EHEEERXEN
7t Z A | H28.8. 31 i 0.15 | HwkO 45 - - 10 [ 66.5 360 2,100 #®&R  |[EEERREN
=i} ZA# | H28.9.12 £ 0.54 | EwkO 19 - - 10| 31.2 250 1,500) f&BR |#EERXEsN
WX ZA# | H28.9.12 Z 0.53 | HwkO 29 - - 11 21.3 130 680 SR |EERTRRES
5/M AT H28.9.8 5 0.39 | HwkO 25 - - 10 | 501 1,100 6,300 H®ER [EEHETREN
EBER ZA# | H28.8.29 = 0.29 | HwkO 20 - - 10| 45.6 570 3,100 #®&R [HEETRREN
LN AT H28.9.9 i 0.36 | HwkO 36 - - 10 | 55.8 1,300 7,200 HwER |EHEEERXEN
A AT H28.9.7 5 0.46 | HwkO 45 - - 10 | 36.2 450 2,700 ®&R [EEHETREN
Al (1) AT | H28.9.7 & 0.29 | HwkO 53 - - 10| 534 1,300 7,300 wBR |RHEEERREN
Wi/ H ZA#i | H28.8. 31 i 0.39 | EwkA 24 - - 10| 525 1,200 6,600 SR [EHETREN
=/ f (1) AT H28.9.7 £ 0.34 | EwkA 33 - - 10| 61.3 1,300 7,000 H®ER |EEHERXEN
ik (1) ZA | H28. 8. 31 i 0.42 | EwkA 12 - - 10 | 56.4 1, 600 9,000 H®&R [EHETREN
XH ZA | H28. 8. 31 i 0.42 | EwkA 33 - - 10] 350 480 2,700 ®5R |##ETREN
K& AT H28.9.8 55 0.50 | EwkA 17 - - 10 51.0 1,200 6,600 SR |E#HETRXEN
=R AT H28.9.8 55 0.24 | EwkA 18 - - 0] 29.7 530 3,0000 w#®SR |E#HETREN
1 7 1 A | H28.9. 1 i 0.32 | EwkA - - - 10| 51.3 890 4,900 #®BR |[EEHETRXESN
PNIE S AT | H28.9.6 i 0.35 | HwkA 60 - - 8] 339 310 1,800] SR  |SHETIXESN
TE/F A | H28.9.6 & 0.32 | EwkA 81 - - 10| 43.1 990 5700 ®ER [EEETREN
— N AT | H28.9.6 i 0.48 | EwkA 32 - - 10| 57.5 1, 600 9,000) w®SR |E#iETREN
B ¥l ZAi| H28.9.6 i 0.48 | HEwkA 42 - - 10| 61.3 1,700 9,300 ®&R [EHETRXN
REHAN ZA#i| H28.9.6 i 0.31 | HwkA 61 - - 10| 70.3 2, 000 11,0000 &R |EEHEERXEN
f L A H28.9.5 i 0.42 | EwkO 10040 E - - 10| 56.6 1,200 6,800 &R [EHIETRXEN
FREBA AT | H28.9.6 g 0.30 | HwkO 10040 £ - - 10| 47.9 2, 300 13,000 #®ER |##IERXEN
TILEA “AMT| H28.9.5 i 0.48| EwkO 63 - - 10| 25.7 290 1600) #&BR  |##HiERXEN
aF1s ZA#i | H28.8. 31 i 0.35] HEwkOl 34 - - 10 | 41.6 2000 11000) &SR |##iERXEsN
TOKW AW H28.9.6 i 0.2| HEwkO 26 - - 10 [ 40.7 370 2100 ®SR  |[EEHETRRES
Bith “AMTAT| H28.9.5 i 0.53| HwkOl 1004k - - 5| 21.8 24 140 ®BR |#HETXESN
LHA ZA#| H28.9.12 e 0.41] HwkO 17 - - 10| 449 740 4100 ®&ER  [EEHETREN
ZHTA ZA# | H28.8.29 e 0.2| HEwkO 38 - - 10 | 49.6 460 2700] ®SR  [EEHETREN
R®/TF (1) AT | H28.9.9 g 0.21) HEwkA 53 - - 10 | 47.2 960 5700 H®&R  [HEHETRIEN
R/ (2) AT H28.9.9 & 0.36| HEwkA 40 - - 10 [ 46.1 410 2300 SR [EEHETRESN
Bm/Rm (1) AT H28.9.9 & 0.4 HEwkO 41 - - 10 31.2 420 2500 &SR [EEHETRESN
=/ f (2) AT H28.9.7 & 0.33] HEwkA 25 - - 10| 322 370 2000 &SR [EEHETRESN
B/ B (2) AT H28.9.7 5 0.26) HEwkA 100L1 - - 10| 46.8 1900 11000 &SR  |S#ERXEN
IR (2) AT | H28.9.9 g 0.31] HEwkA 15 - - 10| 507 910 5600) SR  |E#iETRXEN
ik (2) ZA#i | H28. 8. 31 & 0.31] HEwkA 18 - - 10| 36.8 670 3900) ®SR |E#ETRXEN
fEis T AT H28.9.6 & 0.29] EwkA 86 - - 10| 51.6 1100 5800) ®#®SR  |E#iETXEN
Ey ZAT| H28.9.6 i 0.31] HEwkA 100L - - 10| 648 1400 7900] ®ER  |EHHETRXIESN
FEEN 2 AT H28.9.6 i 0.24] EwkO 42 - - 10 [ 641 930 5200 ®#®SR  |E#iETREN
%R fREEm | H28.10.14 & 0.14 | EwkA 38 - - 12 41.0 470 2,800 ®&R [EHIETRXEN
i fREm | H28.10.14 & 0.17 | EwkO 28 - - 12 62.4 670 3,600 &R [EHETRXEN
WD F FEh H28.10.7 & 0.15 | HwkO 43 - - 12| 540 860 5300 ®&R [EHETRXEN
FOE L FEh H28.10.8 £ 0.14 | EwkO - - - 2] 51.9 500 3,000 ®&ER [EHERXEN
I35 fREm | H28.10.14 & 0.14 | HwkO 15 - - 12| 652 410 2,400 ®&R  [EHETRXEN
T8 fREm | H28.10.14 & 0.16 | HwkO 85 - - 10| 61.8 640 3,800 &R [EHEHETRREN
EN fREm | H28.10.14 & 0.17 | EwkOd 42 - - 7] 62.9 900 5000 #®&R |[#EETRREN
Al /R fREm | H28.10.14 & 0.18 | HwkO 33 - - 12| 59.0 500 3,000 #®&R |[EEHETRREN
hE fREm | H28.10.14 & 0.22 | HwkO 30 - - 13| 63.8 800 4,600 w#BR |@HETXESN
IWHEA fREm | H28.10.13 g 0.16 | HwkO 59 - - 12 | 55.1 570 3,200 H®&ER [EEHETREN
XL fREm | H28.10.13 g 0.17 | HwkO 52 - - 11 39.6 550 3,300 H®&ER [EEHETREN
hmE] fRiEm | H28.10.15 & 0.17 | EwkA 45 - - 7] 43.8 320 1,800) fER |#EHERXEN
E8 R H28.10.7 & 0.14 | EwkA 43 - - 12 [ 55.1 410 2,400 ®ER [EEETREN
Rk fRigEm | H28.10.15 & 0.19 | HEwkA 38 - - 11 55.7 590 3,300 H®&ER [EEETREN
H®A fREEm | H28.10.15 & 0.15 | HEwkA 21 - - 11 59.0 490 3,000 H®&ER [EEETREN
Bk FEh H28.10.7 & 0.16 | HEwkA 30 - - 10| 552 300 1,700 #®SR  |S#ERXEN
Ri=b FEh H28.10.7 & 0.17 | EwkA 63 - - 2] 41.7 240 1,300] #H®ER |SHERXEN
HiR FRE H28.10.7 & 0.12 | EwkA 100LLE - - 11 41.7 850 5100) ®&R |##iETREN
2R3 fRigEm | H28.10.13 & 0.22 | EwkA 12 - - 8| 344 330 2,0000 w#®5R |E#HETREN
XLE1l3 fRiEm | H28.10.13 & 0.18 | HEwkA 38 - - 11 65.2 230 1,300] #H®SR |SH#ERXEN
BE FEh H28.10.8 g 0.13 | HwkA 100LL £ - - 11 65.4 1, 400 8,100 #®SR |E#iETRXEN
EKTT FRE H28.10.8 g 0.16 | HEwkA 58 - - 12| 60.8 440 2,500 ®ER [EEETRESN
51 EH 3532 fREm | H28.10.14 i 0.15 | HwkO 42 - - 12 44.6 400 2,300 ®&R [EHERXESN
&2 fREm | H28.10.14 i 0.16 | HwkO 90 - - 11 54.7 200 1,100) f&BR |#HERXEN
124h3 fREm | H28.10.14 i 0.16 | HwkO 20 - - 7] 66.0 190 1,0000 f&BR |#EHERXEN
A/ fREm | H28.10.13 g 0.21 | HwkO 14 - - 12| 540 440 2,700 ®#BER [BHEHERRESN
=F fifh fREm | H28.10.13 i 0.20 | HwkO 8 - - 13| 65.2 1,100 6,700 SR [#EETRREN
A/ fRigEm | H28.10. 11 = 0.30 | HwkO 15 - - 11 62.8 1, 800 10,000 &R  |[#EETRREN
K fREm | H28.10.10 | & 0.46 | HwkO 11 - - 11 62.2 1,700 9,700 ®&R [EEETREN
LEK fREEm | H28.10.13 g 0.53 | HwkO 52 - - 12| 50.6 2, 900 17,0000 #&BR  |[#HEHERRESN
#ER fREm | H28.10.10 | & 0.42 | EwkO 54 - - 11 58.0 3,600 21,0000 ®ER [EEETXEN
i 47 1% Eabe it} H28.10. 10 = 0.32 | EwkA 83 - - 11 55. 1 1,500 8, 600 BER SRR X 4
KR fRiEm | H28.10.13 i 0.72 | EwkA 63 - - 12| 439 1,200 7,200 H®ER |EHEERXEN
2/ A fRigEm | H28.10.13 i 0.40 | EwkA 71 - - 10 41.4 1,200 7,300 H®ER |EHEERXEN
3R fREm | H28.10.17 o 0.49 | EwkA 76 - - 10 [ 341 620 3,700f H®&R [EEETREN
X2 fREm | H28.10.17 g 0.50 | EwkA 55 - - 12| 59.9 2, 500 15,000 #®&R |@#ETIXEN
AR fREm | H28.10.17 g 0.24 | EwkA 100LLE - - 10| 47.1 1,200 7,400 ®SR @SRRI
=F fREEm | H28.10. 11 g 0.17 | EwkA 62 - - 12] 355 650 3,900 ®SR BTN
F ] fREm | H28.10.10 | & 0.34 | EwkA 48 - - 10 [ 53.0 1,500 8,900) w®SR |E#iETREN
/R fREm | H28.10.10 | & 0.21 | HEwkA 36 - - 11 49.0 1,200 7,100 #&R  |##ETREN
R fREm | H28.10.10 | & 0.36 | HwkA 33 - - 10 440 830 50000 #®SR |##HETREN
1B fREm | H28.10. 11 g 0.20 | EwkA 23 - - 7] 39.6 600 3,800 SR BTN
B fREm | H28.10. 11 g 0.33 | EwkA 100LL £ - - 6| 383 1,200 7,100 #SR  |##ETRESN
2R fRiEm | H28.10. 11 g 0.56 | HwkA 10040 E - - 11 55.8 3,700 21,0000 &R  [EHETXEN
Imp fREm | H28.10.17 i 0.63 | HwkO 10040 E - - 12| 551 820 48000 w®BR |@HETXESN
HEAS i | H28.10.17 g 0.40 | EwkA 100LLE - - 12| 558 1,500 8,600 &SR [EEHIETRXEN
RH fRiEm | H28.10.13 E 0.58 | HwkO 10040 £ - - 6| 40.5 1,500 8,900) #®&R |BHIETXEN
®E fREm | H28.10.13 i 0.74 | EwkO 10040 £ - - 12| 549 3,300 19,000 #®&R |#E#ERXEN
BA fREm | H28.10.12 B 0.70 | HwkO 10040 £ - - 10| 455 640 3,6000 w#®BR |EHIETXESN
—H/A fREEm | H28.10.13 g 0.22 | HwkO 26 - - 12| 60.7 1,500 9,200 H®ER [BHEHETRXES
ERLA RE H28.10.7 i 0.37 | EwkO 34 - - 12 39.9 2,100 12,0000 &SR |#EERXEN
EATA FE H28.10.7 i 0.42 | HwkO 52 - - 12| 580 1,900 11,0000 &SR |#EERXEN
RIKB fRrigEm | H28.10.10 | £ 0.69 | HwkO 29 - - 10| 649 4,100 24,0000 ®ER [EEERXEN
o Jichie] FE H28.10.7 i 0.35 | HwkOo 36 - - 12| 57.5 2, 000 11,0000 &SR |#EHERXEN
DA RE H28.10. 6 i 0.43 | EwkA 52 - - 12| 545 3,300 19,000 &SR  |#EHERXEN
ARAE Eabeit) H28.10. 6 = 0.56 | HwkA 65 - - 10 57.9 1, 400 8, 400 EER SRR X 4
T fRiEm | H28.10.12 i 0.57 | EwkA 37 - - 12| 485 3,300 19,0000 &SR |#EERXEN
B/ A& fRiEm | H28.10.12 i 0.53 | HEwkA 55 - - 12 62.7 2,700 16,000 #®R&SR |#@#ETIXESN
By AB fREEm | H28.10.12 g 0.42 | EwkA 100LLE - - 12 62.2 3,400 19,000 #®SR |E#ERXEN
BAREE fRiEm | H28.10.13 i 0.13 | HEwkA 100LLE - - 7] 49.2 1,100 6,100 #®5R |##iETREN
HR LA R H28.10.6 i 0.21 | EwkA 46 - - 10 [ 50.0 890 5200 w#®SR |E#HETREN
HR+E FEh H28.10.6 i 0.40 | EwkA 63 - - 12| 56.9 1,500 8,800) SR |E#iETXEN
HERTE FEh H28.10.6 i 0.44 | EwkAO 65 - - 10 [ 66.0 2,200 12,000 #®SR |##ETIXEN
R FE H28.10.6 | 1REE 0.35 | HwkA 49 - - 10| 432 1,300 7,700 ®ER  |EEEERXEN
T/ ALA FEh H28.10.7 i 0.36 | HwkO 58 - - 10 [ 56.0 1,200 6,800 &R [EHIETRXEN
FiRE fREEm | H28.10.13 g 0.20 [ EwkO 20 - - 11 53.5 860 5100f #®&ER  [EHIERXEN




BT Em | H28.10. 11 ) 0.30 | HEwkO 35 10| 54.8 970 5,700 EER BT R
B33 iEm | H28.10. 11 2 0.32 | HEwkO 26 8| 59.6 2, 600 15,000 EEE BT RS
BT4E FEm | H28.10. 11 £ 0.32 | HEkO 40 10| 68.2 2,000 12,000 BEEE BHIERR S
7/ SR8 fFiEm | H28.10.12 ) 0.75 | HEwkO 10054 £ 11 53.3 2,000 12,000 EER BT RS
BB fFiEm | H28.10.12 5 0.38 | HEwkO 51 12| 52.2 2, 500 15, 000 EER BT R
HRB FET H28.10. 6 5 0.21 | HEwkO 70 12| 232 210 1,300 BEER BT RS
I\KREE FEH H28.10.6 | R 0.55 | HwkO 10011 £ 10 52.5 58 370 BER piid S 3i- N SN
BEIE | H28.10. 11 ) 0.25 | HwkO 40 11 55. 4 1,400 8, 300 EEE BIERR S
EER fEm | H28.10.10 & 0.31 | EwkO 28 10 | 53.1 700 4, 200 BEER BEIERR S
EIEEN FETh H28. 10. 6 & 0.33 | EwkO 55 12| 56.5 1, 600 9,000 BEER BIERR S
KF fFEm | H28.10.10 ) 0.43 | EwkO 56 10| 41.0 480 2,900 EEE BRI
BE/A fFiEm | H28.10.10 & 0.32 | EwkO 41 12| 46.7 410 2, 200 BEER BT S
BA FEh H28. 10. 6 & 0.39 | EwkO 56 12| 64.5 1, 600 9, 300 BEER BT ES
R’RFE (1) FEh H28.10.7 & 0.59 | EwkO 89 12| 47.0 1,000 6,000 BEER B RE ES
t/ N FEh H28.10.7 & 0.47 | BEwkO 65 12| 83.0 9, 500 55, 000 EER BT ES
f/ A fFiEm | H28.10.10 & 0.54 | EwkO 10081k 10| 72.5 6, 000 35, 000 BEEER BIRRE S
RS fFiEm | H28.10.10 i 0.53 | EwkO 44 12| 41.3 660 4,000 BEER BIRRE S
&4 fFiET H28.10.7 & 0.49 | HEwkO 42 8| 46.0 450 2, 600 BEER BIERE
N FEmh H28. 10. 6 & 0.45 | HEwkO 10054 £ 6 [ 502 960 5,500 EER BIRRE ES
i) PN FEmh H28.10.7 & 0.37 | EwkO 26 9| 26.1 900 5, 400 EER BEIRRE s
i/ 8/t AEH H28.9. 14 & 0.22 | HEwkO 62 10| 55.2 1,700 9, 700 EER BT R
B/ AEH H28.9. 14 ) 0.18 | HEwkO 42 10 | 50.6 750 4,100 EEE BT R
Eoith AEH H28.9. 14 £ 0.36 | HwkO 26 10| 554 2,100 12,000 EEE BT R
Eith AEH H28.9. 14 ) 0.23 | HEwkO 52 10 | 48.3 540 3, 200 BEER BT RS
Fohit AEH H28.9. 13 5 0.30 | HEwkO 8 10| 43.0 1,800 10, 000 SR BT R
kit AEH H28.9. 13 5 0.27 | HEwkO 54 9| 503 1,500 8, 800 BEER BT R
FiRth AEH H28.9. 13 ) 0.31 | HwkO 28 10 | 56.4 970 5,500 BEER BT R
i iakapi) AEH H28.9. 15 5 0.21 | HEwkO 67 12] 62.6 27,000[ 160, 000 BEER BT RS
Eg=pul A= H28.9. 15 i 0.30 | EwkO 10084 E 10| 32.6 1,400 7,800 BEEE RIS R ES
it AEh H28.9. 15 & 0.42 | EwkO 68 10| 25.8 1, 400 7,900 BEER RS R ES
—WithF A= H28.9.13 5 0.22 | EwkO 28 9| 283 88 460 BEER BIERR S
Rkt AEh H28.9.13 5 0.26 | EwkO 13 9| 683 1,000 6,000 BEER BERR S
vt AEH H28.9.13 [ 0.13 | EwkO 36 10 |  34.1 290 1,700 BEER BT Es
Fith AEh H28.9.15 & 0.31 | EwkO 17 10 | 30.1 590 3,300 BEER BT S
ksl AEH H28.9. 16 g 0.41 | BEwkO 20 12| 48.4 2, 300 13, 000 EER BIERE S
BrFK AEH H28.9. 16 [ 0.33 | EwkO 32 12| 57.2 2, 600 15, 000 BEER BIRRE ES
&SRt AEH H28.9.15 g 0.57 | EwkO 15 11 48.5 1, 600 9,000 BEER BIERE S
et AEH H28.9. 15 & 0.46 | EwkO 28 12| 49.9 1,700 9, 900 BEER BRRE ES
i AEH H28.9. 15 5 0.33 | EwkO 22 11 55.3 850 4,500 BEER BIRRE S
1L AEH H28.9. 15 5 0.16 | HEwkO 57 11 54.8 1,700 9, 600 BEER BIRRE ES
J\IE Bt A= H28.9. 15 5 0.34 | HEwkO 58 7] 589 2, 300 13, 000 EER i3-S )y
Wit AEH H28.9. 19 & 0.27 | HEwkO 80 10| 54.9 1,900 11, 000 EER BT R
St AEH H28.9. 19 ) 0.26 | HEwkO 30 10| 47.0 1,100 6, 500 EER BT R
EEFXit AEH H28.9. 16 ) 0.33 | HEwkO 50 10| 72.2 4, 600 26, 000 BEEE BT R
HEith AEH H28.9. 16 £ 0.47 | HEwkO 37 11 56.9 1, 400 7,700 EEE BT R
BFEh AEH H28.9. 13 5 0.37 | HEwkO 39 12| 48.3 970 5, 400 BEER BT R
R AEH H28.9. 13 5 0.23 | HEwkO 25 12 71.8 2, 600 15, 000 BEER BT R
il AEH H28.9. 13 5 0.28 | HEwkO 36 12| 60.4 1,900 11, 000 BEER BT RS
IEth A= H28.9.13 5 0.38 | HwkO 20 12| 68.6 3, 600 20, 000 BEEE BIERR S
2Rt AEH H28.9. 13 5 0.49 | HEwkO 35 12] 62.3 1,500 8, 900 BEER BIERR S
E/KFEM AEh H28.9. 14 ) 0.31 | HwkO 64 11 45.3 810 4, 800 EEE BIERR S
BF » At AEh H28.9.19 2 0.24 | HEwkO 46 10| 63.4 750 4, 600 BEER RIS R ES
E 7Bt A= H28.9. 14 g 0.25 | HEwkO 65 11 61.4 2,200 13, 000 BEER BEIERR S
T/ it A= H28.9. 14 g 0.40 [ EwkO 10084 E 12| 46.0 740 4, 300 BB BIERR S
KEA AEh H28.9. 14 [ 0.39 [ EwkO 10084 E 11 55. 7 1,700 9,900 BB BT S
PRt AE H28.9.13 5 0.35 [ EwkO 42 10| 36.3 290 1,700 BEER BT ES
REBKE AEH H28.9. 16 g 0.37 | BEwkO 58 12| 48.6 2, 300 13, 000 BEER BIERE S
KEFEit AEH H28.9. 14 [ 0.51 | EwkO 10081k 12| 59.0 3,700 23, 000 EEE BIRRE S
15 / It AEH H28.9. 14 g 0.24 | HEwkO 48 10 | 511 890 5,300 BEER BIRRE
Elith AEH H28.9. 14 [ 1] 0.35 | HEwkO 26 12| 45.8 1,100 6,100 EER BIRRE
tEZiH AEH H28.9.13 5 0.27 | HEwkO 28 11 62.0 1,700 10, 000 EER B TR
18/ Wit AEH H28.9. 16 [ 1] 0.37 | EwkO 10081k 10| 27.9 230 1,400 BEEE BSIRRE S
REFF RIS AEH H28.9. 16 & 0.37 | HEwkO 53 10| 58.9 1,900 11, 000 EER i3-S )8
Fiblibiu AEH H28.9. 16 & 0.46 | HEwkO 63 10| 46.0 940 5,600 EER BT R
IR AEH H28.9. 15 5 0.32 | HEwkO 1004 E 10| 67.6 8, 900 51,000 EEE BT RS
En AEH H28.9. 14 ) 0.31 | HEwkO 15 10 | 351 480 2,700 BEEE BT RS
Rt AEH H28.9. 19 5 0.20 | HEwkO 28 10| 54.7 4,500 26, 000 BEER BT R
W4 it AEH H28.9. 14 ) 0.38 | HEwkO 10054 £ 12| 62.3 430 2, 400 BEER BT R
=/ Bt AEH H28.9. 13 5 0.36 | HwkO 69 10| 52.3 1,900 11, 000 BEER BT RS
il il AEH H28.9. 13 5 0.22 | HEwkO 10084 E 10| 41.6 370 2, 300 EEE BT R
52 B AEh H28.9.16 ) 0.37 | HEwkO 27 12| 51.7 1,300 7, 400 EEE BIERR S




